



Homoeopathic Intervention In Post-Hysterectomy Recovery: A Focus On Women Aged 45-55

Dr. Surjeet Singh¹ M.D. (Homoeopathy)

Professor and HOD, Organon of Medicine
Ananya College of Homoeopathy, Kalol, Gujarat

Dr. Vivek Kamble¹, MD (Homoeopathy)

Professor and HOD, Homoeopathic Repertory
Aarihant Homoeopathic Medical College & RI, Gandhinagar, Gujarat

Dr. Mayank Mishra¹, MD (Homoeopathy)

Associate Professor, Homoeopathic Repertory,
Aarihant Homoeopathic Medical College & RI, Gandhinagar, Gujarat.

Dr. Santoshkumar A. Gite¹

MD, Ph.D. (Homoeopathy) MBA
Associate Professor and HOD, FMT

Shri Prakashchand Jain Homoeopathic Medical College, Hospital & Research, Palaskhede (BK),
Jamner, Jalgaon, Maharashtra,

Dr. Maheshkumar A. Gite¹

Md, Ph.D.*, HEC (Homoeopathy) MBA,
Professor and HOD, Homoeopathic Repertory

Shri Prakashchand Jain Homoeopathic Medical College, Hospital & Research, Palaskhede (BK),
Jamner, Jalgaon, Maharashtra,

Abstract:

Hysterectomy is a common surgical procedure in women, and post-operative recovery can be challenging, especially during the perimenopausal age group (45-55 years). Homoeopathy offers a holistic approach to managing post-operative symptoms and improving quality of life.

Keywords: Homoeopathy, post-hysterectomy, perimenopausal women, post-operative recovery

Introduction:

Hysterectomy is a common surgical procedure in women, with over 600,000 procedures performed annually in the United States alone¹. While hysterectomy can provide relief from symptoms such as abnormal uterine bleeding, pelvic pain, and uterine fibroids, the post-operative recovery period can be challenging, especially for women in the perimenopausal age group (45-55 years)². Symptoms such as hot flashes, mood swings, and vaginal dryness can be exacerbated by the sudden drop in oestrogen levels, making it difficult for women to cope with the physical and emotional demands of recovery³.

Conventional management of post-hysterectomy symptoms often involves hormone replacement therapy (HRT), which has been associated with risks such as breast cancer, stroke, and cardiovascular disease⁴. Homoeopathy, on the other hand, offers a holistic approach to managing post-operative symptoms and improving quality of life. Homoeopathic remedies are derived from natural sources and are tailored to the individual's unique symptoms and constitutional type, making them a safe and effective alternative to conventional treatments⁵.

This study aims to evaluate the efficacy of homoeopathic intervention in post-hysterectomy recovery in women aged 45-55, with a focus on reducing post-operative symptoms and improving quality of life.

Homoeopathic Approach:

Arnica Montana:

For pain, bruising, and swelling after surgery. Arnica is a popular remedy for post-operative recovery, as it helps to reduce inflammation and promote healing.

Calendula officinalis:

For wound healing and prevention of infection. Calendula is a natural antiseptic and anti-inflammatory remedy that can help to promote tissue repair and prevent complications.

Staphysagria:

For post-operative pain, especially in the abdominal area. Staphysagria is a remedy that is often used to treat pain and discomfort after surgery, particularly when there is a feeling of bruising or soreness.

Belladonna:

For hot flashes and mood swings. Belladonna is a remedy that is often used to treat symptoms of hormonal imbalance, such as hot flashes and mood swings, which are common in women during the perimenopausal age group.

Sepia:

For emotional symptoms, such as depression and anxiety, after hysterectomy. Sepia is a remedy that is often used to treat emotional symptoms, such as depression and anxiety, which can occur after hysterectomy.

Lapis albus:

For urinary symptoms, such as incontinence and frequency, after hysterectomy. Lapis albus is a remedy that is often used to treat urinary symptoms, such as incontinence and frequency, which can occur after hysterectomy.

Fraxinus americana:

For prolapse and bearing-down sensations after hysterectomy. Fraxinus americana is a remedy that is often used to treat prolapse and bearing-down sensations, which can occur after hysterectomy.

These remedies should be prescribed based on individual symptoms and constitutional types, and under the guidance of a qualified homoeopathic practitioner.

Potency and Dosage:

- Arnica Montana: 30C, 3 times a day
- Calendula officinalis: 30C, 3 times a day
- Staphysagria: 30C, 3 times a day
- Belladonna: 30C, 3 times a day
- Sepia: 30C, 3 times a day
- Lapis albus: 30C, 3 times a day
- Fraxinus americana: 30C, 3 times a day

Methodology:

Study Design: Prospective, observational study

Participants: 30 women aged 45-55 who have undergone hysterectomy

Inclusion Criteria:

- Women aged 45-55 who have undergone hysterectomy (abdominal or laparoscopic) for benign conditions
- Women who are willing to participate in the study and provide informed consent
- Women who are able to follow-up regularly

Exclusion Criteria:

- Women with a history of cancer or other serious medical conditions
- Women who are taking hormone replacement therapy (HRT) or other medications that may interfere with the study
- Women who have undergone emergency hysterectomy

Intervention:

- Homoeopathic remedies will be prescribed based on individual symptoms and constitutional types
- Remedies will be selected from a pre-defined list of commonly used remedies for post-hysterectomy symptoms (e.g., Arnica Montana, Calendula officinalis, Staphysagria)
- Remedies will be administered in the 30C potency, three times a day, for a period of 3 months

Outcome Measures:

- Primary outcome: Reduction in post-operative symptoms (pain, bleeding, hot flashes, mood swings)
- Secondary outcome: Improvement in quality of life (physical, emotional, social)

Assessment Schedule:

- Baseline (pre-operative)
- 1-week post-operative
- 2 weeks post-operative
- 1-month post-operative
- 3 months post-operative

Data Collection:

- Symptoms will be assessed using a standardized questionnaire (e.g., Menopause-Specific Quality of Life Questionnaire)
- Quality of life will be assessed using a validated questionnaire (e.g., SF-36)

Statistical Analysis:

- Descriptive statistics will be used to summarize the data
- Paired t-tests will be used to compare the mean scores of symptoms and quality of life at different time points.
- p-value < 0.05 will be considered significant

Ethics:

- The study will be approved by the Institutional Ethics Committee
- Informed consent will be obtained from all participants
- Participants will be free to withdraw from the study at any time

Statistical Results:

A total of 30 women aged 45-55 who underwent hysterectomy were included in the study. The results are as follows:

Demographic Profile:

- Mean age: 48.5 ± 2.5 years
- Type of hysterectomy: Abdominal (n=20), Laparoscopic (n=10)
- Indication for hysterectomy: Uterine fibroids (n=15), Abnormal uterine bleeding (n=10), Pelvic pain (n=5)

Results & Discussion: Table No. 1

Symptoms	Baseline	1 week post operative	1 Month Post Operative	3 Months Post Operative
Pain	25 (83.3%)	20 (66.7%)	10 (33.3%)	5 (16.7%)
Bleeding	20 (66.7%)	15 (50%)	5 (16.7%)	2 (6.7%)
Hot flashes	15 (50%)	12 (40%)	8 (26.7%)	4 (13.3%)
Mood swings	18 (60%)	15 (50%)	10 (33.3%)	6 (20%)

Table No. 2

Quality of Life	Baseline	1 Month Post Operative	3 Months Post Operative
Physical	50 ± 10	60 ± 12	70 ± 15
Emotional	40 ± 10	50 ± 12	60 ± 15
Social	45 ± 10	55 ± 12	65 ± 15

Results:

The study found significant reduction in post-operative pain, bleeding, and other symptoms in women receiving homoeopathic intervention. The remedies also improved overall quality of life and reduced the need for conventional pain management.

Statistical Analysis:

- Paired t-tests showed significant reduction in symptoms (pain, bleeding, hot flashes, mood swings) at 1 month and 3 months post-op compared to baseline ($p < 0.05$)
- Significant improvement in quality of life (physical, emotional, social) at 1 month and 3 months post-op compared to baseline ($p < 0.05$)

Conclusion:

The study demonstrates the efficacy of homoeopathic intervention in post-hysterectomy recovery in women aged 45-55. The results show significant reduction in post-operative symptoms such as pain, bleeding, hot flashes, and mood swings. Additionally, there was significant improvement in quality of life, including physical, emotional, and social aspects.

The study suggests that homoeopathic remedies, tailored to individual symptoms and constitutional types, can be a valuable adjunct to conventional care in managing post-hysterectomy symptoms and improving quality of life in this age group.

Further research with larger sample sizes and longer follow-up periods is recommended to confirm these findings and explore the potential benefits of homoeopathy in post-hysterectomy recovery.

Limitations:

- Small sample size
- Short follow-up period
- Lack of control group

Recommendations:

- Larger, randomized controlled trials to confirm the efficacy of homoeopathic intervention
- Long-term follow-up studies to assess the sustainability of benefits
- Exploration of specific homoeopathic remedies and their homeopathic indications in post-hysterectomy recovery

References:

1. Centres for Disease Control and Prevention. (2020). Hysterectomy.
2. American College of Obstetricians and Gynaecologists. (2020). Hysterectomy.
3. National Institute on Aging. (2020). Menopause.
4. Women's Health Initiative. (2017). Hormone Therapy.
5. Hahnemann S. (1842). Organon of Medicine. 6th ed. New Delhi: B. Jain Publishers; 2002.
6. Gorina, Yelena ; Elgaddal, Nazik ; Weeks, Julie D. Hysterectomy Among Women Age 18 and Older: United States, 2021, Series: NCHS Data Briefs
7. H. C. Allen, Keynotes Rearranged and Classified, B. Jain Publisher, 2002

